1.

=

AP 3x 4 4 = 7% B2 Aokl thg 1719 $H 4T F

AR BfoF S 227

H7]

@ a=bolHa+c=b+cO|h

© a=bolHa-c=b-colth

¢ = be |t}
ojtt. (T c#0)

© a=bolH

)

® a=bolH

(SN

(SRS

e o o066 @Doe o6ee

B

3x+4=7

3x+4-4=7-4 45 3t

3x=3

3x 3 -

SLox=1

Tge 548 MI, B2 532 PHe
o]tk




6% ©] &a& 100g T 9% 9] Aa= 200g = 412H o] AFE9
L9
[e) 1 .

5% ©6% ®71% @s% © 9%

B ~

6
6% ATE0] AT % %100 = 6(g) ,

100

9
9% £FE AFO] F: oo X200 = 18(g)
s A g F: 24(g) , w2 ' 300(g)

6+ 18
T ——x 100 =
300 x 100 = 8%




3.

ax+b=5(x+2) o si7t 73] We W, a, b 9

\4
ot

o

vV V.V
0
L
Q
[

0
il
S
I

—
o




25} ob x| 9] Lol 45 Aol T, o} Lol g Aolct. E ¥
obi|7] ] Lto] 7} oF5 9] ttele] 4 w7k HE7k

-

o

—‘Oll

O
EQE
g

Lo

d o] ofujz|e] 1ol 7} obS €] o)) 47l HrkT o,
< 50 ofiA] o] Lol 45 1 x, O} ] Lol 9 4 x o]B R
45 + x = 4(9 + x)

45 + x = 36 + 4x

9 =3x

x=3




A, BT 1259 Zt2} 200 g, 420g 2] Eo] 50 QUth. A 23] 59
220 So] gt 29| oko) i"] 57 shed A
Q2N B 1202 B go] B A0k sH=x] Tatole},

A 2N B 1202 xgo B& &70th1 ot 418 YA
=
=1,

1
200 — x = 1(420 + x)

800 — 4x = 420 + x

—5x = -380

L x=176

oehA, A RN B 1RO =2 76g 9] B2 &AF 2t




72k A A9k BE AR Ao Akl sexket dof Ahe] AhE
HHE Zolct, 7 zhe] 5:2ke] §o] 100]1L 3A -B =38 4 W, A+ B
o] #b& ool

A9l A9 Ae] £245 x, 49 A2 £AE 10 - x 2 5FH,
A =10x+10-x, B =10(10 - x) + x ©]t}.
3A-B=3{10x+ (10 - x)} - 10(10 — x) — x = 38 °|T}.
3{10x+ (10-x)} -10(10 - x) —x = 38

30x 4+ 30 — 3x — 100 + 10x — x = 38

36x = 108

x=3

=

= A=37, B=73°]11 A+B=37+73 =110 ©|t}.




A A7}

1

o)

=

5 A2k 6 Al Atolell AlZh& 7127

=
1jo

90

6x — (30X 5 + 0.5x)

5.5x = 240

450
11

2) A7e] £3Kr} Zo]

(150 + 0.5x) — 6x = 90

5.0x = 60

TX=

=™

11x =120

120
11

2ol




